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1R� $UWLFOH�1R� 'HVFULSWLRQ
� 723����� F\OLQGULF�VFUHZ�0��[��
� 723����� ORQGLWXGLQDO�JLUGHU
� 723����� VZLYHO�DUP�IL[DWLRQ�V\VWHP
� 723����� VXSSRUW�VKDIW�VZLYHO�DUP���K�[���
� 723����� IL[DWLRQ�ULQJ�IRU�VKDIW
� 723����� EODFN�KDQGOH
� 723������/ FURVV�SODWH�OHIW
� 723����� VOLGLQJ�HOHPHQW�G��[�
� 723����� F\OLQGULF�VFUHZ�0�[��
�� 723����� F\OLQGULF�VFUHZ�',1�����0��[���Y]
�� 723����� VZLYHO�DUP����W
�� 723����� VFUHZ�LQ�FXS��WHOHVFRSLF�
�� 723����� UXSSHU�VXSSRUW�GP����
�� 723������5 FURVV�SODWH�ULJKW
�� 723����� VDIHW\�ULQJ�IRU�VKDIW


